
YFM10899 Arbetsbord 
med  Skruvstäd

Artikelnummer: Benämning: Antal

1 YFM1009510 Arbetsbord 1 st
2 Skruvstycke 1 st
3 2 st
4 Fäste gummistropp 25mm 2 st
5 Bricka 7x22x1,5 2 st
6 2 st
7 YFM1007294 Låsmutter M6 2 st
8 Gummistropp 200mm 2 st
9 YFM1089920 Fäste 1 st
10 YFM2006533 R-Sprint 3,5mm 1 st
11 YFM1007125 Sprint 10mm 1 st
12 M8x16 Fläns 2 st
13 M8x25 Fläns 3 st
14 YFM50103 Låsmutter M8 5 st
15 Bricka 9x18x1,5 3 st
16 Vev Skruvstycke 1 st

M6x20 Försänkt Torx

M6x20 Ph

4 6

5

7
83

1

2 10
9

11

12
13

14
15

16

14


	Tabell1

